HILBERT CALCULUS
EXERCISE SOLUTIONS



Ex 2(a) -- b =2 (a—>a)

a—2>((a2a—2>aAl,P=a,Q=a—->a)

(a2 ((a= a) 2 a)) 2 ((a=2(a—=a)) 2 (a=a)) (A2,
P=a,Q=a—->a R=a)

(a>(a—>a)) 2 (a—>a)) (MP)

a2>((@—>a)(Al,P=Q=a)

a 2> a(MP)

(a2a) 2 (b2 (a—2a)) (Al,P=(a—>a),Q=Db)

b 2> (a—a) (MP)



Ex2(b)-av-a=(—-a->-a)

—a=2(~a2-a)2>-a)Al,P=-a,Q=-a=>
—|a)

a2 ((ma2-a)>-a) 2 (~a>(-a> -a)
2 (—a2>-a)A2,P=-a,Q=-a2>-a R=-
a)

(ma=2(-a=2>-a)) 2 (—a> -a) (MP)
ma2>(—a>2>-a)(Al,P=Q=-2a)
-a-2>-a(MP)



Ex 2(c) -—a - a

-—a (Assumption)
1A 9 (_I_I_I_Ia 9 —|—|a)(A1, P =--a : Q = =7 —|—|a)
(_I_I_I_Ia_ - _I_Ia_) (MP)

(_I_I_I_Ia_ - _I_Ia_) - (_Ia_ 4 —l—l—la) (AB, P=---a : Q:
—|a)

(-a 2 ---a) (MP)

(—a 2> -—--a) 2 (0Ha->a) (A3, P=a, Q= --a)
(-—a 2> a) (MP)

a (MP)



